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1. {59 T 7 fadiae ghg o SR & den

g gUse ACRf~ed &7

Which one of the following stem shows
secondary growth and vascular bundles
are leptocentric ?

(A) HFPI/Maize

(B) ¥TEAreM/Cynodon

(C) 3R1/Dracaena

(D) T&/Wheat

. (C) © TE SEe, FANH $HAdd DI AR
3R & BR oI &, A I ST
P THHITT T TeRIfed bR
PT I g Hel AT ¢ |
IRFT B T A e oy
IR SR & e Wasd s
RIS & |

TCRIED YHR & Faed TS
THATA WY § W W T,
SR—R ¥ fdis gfg &
1< |

. HTdl T TYHR TG Sl S Teredl iy
e BIRTHNY fAHRIT B &, Hear &—
A tumour like tissue of thin walled cells
developing over the wounds is called :

(A) cIAREE/ Tyloses

(B) eA/Gall

(C) Pt/ Callose

(D) &erd/Callus

. (D) © ©E R YR TG Kb Sl
el it arelt BRI fasmRid
B &, BorT BEerl &

BT, U ST D 2l & |
BT, BT DIETTH | Sea~ Bl
Bl

EI%F’I'\'T, Tdh U3 W PI Regenerate
B D & |

. Seed H fa=faRad enfiarear & 9
DIF-T GRIT AT &7

Which of the following toxicant is found
in the hydrosphere ?

(A) TS¢H sffeaTgS/Nitrous oxide

(B) *I9HTSIe/Detergents

KICACEIR]

Tol YR-9A

(C) TR Ts3iadgs/Sulphur dioxide
(D) 8SI/Ozone

. (B) © SIoHSe H SNfYare H GHISID

RIT STl & |
TERBIR A SO, rfiarer g
ST B |

. fesfeRRan # faras @vs 2 87

How many somites are present in Hirudi-
naria ?

(A) 32 (B) 33
(C) 34 (D) 35

. (B) « TRufeARan # 33 @ue B B

RefefRar &1 Je wiferst # vr
T E |
RofeRar & I 9™ e
Tl

TET IRR 33 FHEUS] H Sl
&l B, oI fafdy e Sy
q PR gRAT &)1 a1 F 9"
YITHR Bl (Annuli) § ¢
g 2 B

. Rraaifsee e et g1 fFefaRag

F FEH YA P-4 87

Which of the following would come first
according to Geological Time Scale ?
(A) ASHIENSTA/Lycopodium

(B) RieifStet/Selaginella

(C) STARIeA/Equisetum

(D) wTg@red/Psilotum

5. (D) « RAESed TRA e &R

ST e Y & |
qTSAreq 9ol &l faed B
IRENR & 99T 9 THh Sifad
SaTEH B

g3l O RfRd 9 o wrad
IR BT R BN & AR AR
% IUTBICTRT &3 H 9T ST
Tl

& vEal waedl qfy dren,
TR g BT de ¥, i
I 400 fafer o vger gedt
TR fers fo=m e

iter fafer : 17-08-2021

6. 9 fawgs Fefifad doHl R faarR

PHIfI—

Consider the following statements regard-

ing AIDS :

1. 8 YTIfduIv], Ta 377 a1 & PRI B
B/It is caused by retrovirus, HIV

2. ¥g 9, RIS b =R Ulipfal
BT /1t replicates within T, lym-
phocytes

3. oz gRevr fasmy Huil @1 gdr

VTaT &/ELISA test detects the pres-
ence of virus particles

4. fawmo) ©: 9ot TP 4G <@ Fhal &/

It may remain dormant for six years
(A) 1,292 38 /1,2 and 3 are correct
(B) 2,379 4¥8 /2, 3 and 4 are correct
(C) 1,392M 48 E/1,3 and 4 are correct
(D) 1,27 48 /1,2 and 4 are correct

. (A) EE tl'%'_clﬁEITlﬂ (retrovirus), HIV

P HIROT B & |

& TS RNA o) & |

Te T, AR & S Fipfal
BT

ELISA 918101 gRT 394 07
gfie &1 oI T

T8 fauTo] 10-15 9t T TG« 35
|1 & 7 % daer 6 auf ab |

. XF-TfSRIeRIAISH-TeeRex ™ &l Th

He@qUl Teh T 87

Which one is an important constituent
of renin-angiotensinogen-aldosterone
system ?

(A) S T BIRMGRI/IGA cells

(B) AT BIRIHRI/Plasma cells

(C) #HER PIRGRI/Macular cells

(D) SRUMIEfE/Erythropoietin

7. (A) © v —Yeel-

TR P U HedyUl e JGA
PIRDIT & |

Juxtaglomerular HIRTHE, T
IR PIRMHIST & w9 4 A
ST I 8, & A PIRIDIE & S

TR | 1



9. (D)

AR Ifad AT B |

9 I w9 & SfEre gEAr b
EART SR HB SUarel e
B AR A R faer u=h
PIRTHIT & S TG Bl Iae
Tgani S |

8. Wy fHRT & TreIiRA # Sufkerd

PSS 9% T B B—
Fibrous bands present in endothecium of
anther wall is made up of :

(A) RIAT &/Sporopollenin

(B) o-Igat &/ a-cellulose

(C) Ufe & /Pectin

(D) ferfa= &/Lignin

. (B) © W ARy & TR &
SR BISeR T8 o-HegeirsT
@ T B B

RN Fe™ IS wd
3 e wifde difems & 9
TP &1 8 WY B Iomsi SR
TRRTHUI &1 & a8l QIaRT 6
% JHd TS © |

Ufde U BlaRRST & Sl (A
el (1, 2) B BT FHfRy + S
BT & | I8 Bl R Al &
& SR foeTe/IRa & It B
Bl

. At mat | U 9 arer 3 SRSy
ST s FrferRad B | dF-ar
q& 8?

Which of the following statement is true

regarding 3 pairs appendages found in
nauplius larva ?

(A) 9SRTeRI der SR feemd 8t &/

Antennules are antennae are biramus

(B) qu SR Bl &/Only

antennules are biramus

(C) @act fage fa=mdl 81 §/Only man-
dibles are biramus

(D) e Ten fage I feemedy, B
¥/Both antennae and mandibles are
biramus

e et 3 TR S dTet 3
SIrel SU # SR Jo fRigs
AT g B B

TH AT & g ferany
S ST (TEYE, YO 3}
Fge) IR TH Txa, AR
A Tl

2 | AGRAWAL =XAMCART

Aiftagw @raf fafkds«,
IHITS |

10. <9 HFAT & T H SADT BrRAT AIHA

10.

11.

11.

°C ¥ ¥— 36, 34, 41, 39, 37, 43, 36, 37,
417 39 | F=ferRad # & F-1 9w
forgerT Tl 2?2

A sample of ten people have the follow-
ing body temperature in °C : 36, 34, 41,
39, 37, 41, 43, 36, 37, 41 and 39.Which

of the following represents the standard
deviation ?

(A) 2.65°C (B) 2.90 °C

(C) 3.10°C (D) 3.50 °C

(A) © =9 IS D T H ST BT
AOEE °C H ¥—
36, 34, 41, 39, 37, 43, 36, 37,
41 99 391 d: 2.65°C AFD

fage™ geiian B
36+34+41+39+37+

43 +36+37+41+39
10

=383
(36-138.3)2+(34-38.3)2 +
(41-383)2+(39-38.3)* +

= (37-38.3)2+(43-383)% +
(36 —38.3)2 4+ (37-138.3)>+
(41-38.3)%+ (39 - 38.3)?

=70.1
I
10 ’
= v7.01 =2.647 = 2.65°C
Ffafed § & dF-a1 |8 gaferd &

8?

Which of the following is not correctly
matched ?

(A) RAFTIROI—FAROREN G/
Translocation—Interchromosomal
rearragement

(B) Y& Si—gaR {1 S 1 Seifta
&A1/ Epistatic gene—Stiumulating
the action of another gene

& gHIfaar—al S| gr1 Rt
U1/ Codominance—A character
controlled by two genes

(D) TaRI—UIH oiF ¥ F=T aAeurey
¥U+T/Neomorphs—Prouduce a
phenotype different from that

9ol STH—g@x fel ST Bl
Tl

©

(B)

12.

12.

13.

13.

14.

14.

Ge S AT YU wres
TRy w5 & aref g B & 5 v
ST GebTR BT YHTd Ueh STeTT ST
$ U9g ¥ B B |

TTATARY] — AT
YA |
Fegwfaa—al i gR1 FrRifa
o7 |
TIRI—TEHT S | 1 a0
WY I |

Riftrer ST WRIRT # favet (arreer<)
T PEA B—

In Griffith experiment of transformation
virulent srtain is called as :

(A) TH-F/S-strain

(B) 3MR-¥¢/R-strain

(C) TH-FH/M-strain

(D) B-FHA/K-strain

(A) © fifther cRTwE YA ¥ faver
T S’ FHEAAN &
fther = <&l &l Hepfd PR drel
gAY (i ~gAT)
JFIRAT & A SUNGT BT START
fopar—
TS YHR-111-S (R a1 o)
ELINIEE]
TH YPHR-II-R (Rough)—R-
fa¥eT or non-virulent

P-4 T Fe &7

Which one is correctly paired ?

(A) TFH—FEABIET/ Teak—Dipterocar-
pus
(B) \TdA-CaeAT/Sal-Tectona
(C) Ars—gA/Chir—Cendrus
(D) ¥ —seafSar/Sheesham—Dalber-
gia
(D) © SeEm—scafsfr
Cp—caeHl Tfed
AT —NRAT A=
Are—aTsTd

The larval life of Bombyx mori lasts for
..................... days.

(A) 32
(©) 52
(A)

(B) 42

(D) 62
ifrgeT AR & fSaied &1 32 fae
I STa-TehIe BT & |
Qg MR @1 amaf, =
AR TR NIHBIC Hal Sl & |
e B fore e Aot & |



15.

15.

16.

16.

faer & 3R, @@l 4 IR
forereta B |
TR Aiee & G P @l &
SR Pl oIdl 8|
N BT DI, 3 A IR ATHT
1/8 39 &1 B & 3R At
Tl T B ¢ |
U wReyl fawgss FMfeRed woml 7
| P-4 T T &?
Which of the following statement is not
true regarding the synthesis of proteins ?
(A) TEH  TH-3IRUAY,  TI-IRUAT,
g, ST 3, St e TroTTgH
P IMaTIHAT BT &/1t requires

m-RNA, t-RNA, ribosomes, amino
acids, energy and enzymes

il T et A-aR T U7 3

e B &/ Activated amino acids
attach to t-RNA

THA-3IR U9 T 5’ — 3" fIem & qar
ST B/m-RNA is read in 5" — 3’
direction

TifeTICISE HEeIvol |-BRR ¥ T1-BR
@I 3R geal &/Polypeptide syn-
thesis proceeds from C-terminal to
N-terminal end

TifeTierss ey W-BR o
TH-BR B 3R &l 9T &
TANNCISS HLTYUT H U&ell HaH
faferse mRNA &1 Heeivor &, i
TS S Bl T=hIS Bl & |
mRNA ¥ Teb SgpH 237 Brell
& S BIC EERMA q9fic B
OTT 39 T H HEIRRAT BT
T g8 B mRNA D 5' RR &
e 3' B B

PCO (91 31 31.) T 3 - 9 ST ST

T—

PCO cycle is also known as :

(A) C,T%/C, cycle

(B) C,3%/C, cycle

(C) C,TH/C,cycle

(D) &% °%H/CAM cycle

(A) © PCO=®, C,d% & A A A
ST STl B |

PCO 3% & T 9 — Pho-
tosynthesis Carbon Oxidation

®)

©

D)

D)

Cycle.

e Yfohan C, 9 C,  Hell Heaqul
3R T M &8 |

g fopar eRTetads, wReiTRIa™
T HTZCIBIoSA  qoT Bl & |

17.

17.

18.

18.

19.

19.

TEH I @ Wy A gfg a1 wef
PR 8, fbg 99 W e T8 IR B
YT BT &—

One species inhibits the growth of another
species but does not feed on it. This is
called :

(A) FEHITAT/Commensalism

(B) SRIYHINGT/Mutualism

(C) H&aNT/Cooperation

(D) YA=IfersH/ Amensalism

(D) © U ST gAY S B gheg Bl
waffa el &, fFg S99 W
3T &l RN §, I feroiraa/
VAT BT & |
FRIgHIRa § & faft=1 ifa
3 e T w9 9 ghg &R
JERSNfA & foU gy W
ST B S
eI H U ST I T4 Biel
T, TR SN ST IR DTS gHEG
T B & |

S & el © ATBR B SOvS —

Horse-shoe shape ovute is :

(A) FFTSAEad/Campylotropous

(B) THITAIGT/Hemianatropous

(C) THHIGITE/ Amphitropous

(D) \fgAIgas/ Circintropus

(C) © HISH A B 3BT B AoTvS
BT TG Fel STl & |
HHZACIT—3d dISvS Bl
“Ifha SonTS’ W FHEl S
AT IG —3H  SISUS Bl
IRR FISMUEgd TR 90° B HIvT
TR R &icro Refd F off S |
FRfMerTg—sa SIS Bl
"RUEfTT dTUS” 1 FHEl ST & |

P91 HAT ASHH B &0 P quiT el
PRAT?

Which statement does not explain the
features of cycas ?

(A) 31 'TRE Bl IRl / Two kind of leaves
(B) #MIRTIT/Monoecious
(C) DA SMHR AHRURIHET/ Wedge-
shaped microsprophyll
(D) TS H AISHRISSH |kl /Mycorrhizal
association in roots
S H HISHRISS T, D
BAT, AP D AL BT o7
& BT B
WEEHE H q YHR B oS U8
ST &—
1. AT TS AT Tap root
DRAGS TS
AZHH H TS S aret! Ry o
B ¥, O Argeer —RerfiaRur

(D)

ASAFIRAT § FS Bl & |

20. gA—1 BT FA—I11 F FAferd IR T

20.

21.

e & g &1 ST RS T K
Match the items in list-I and List-1I and
select the correct option using the given

codes :
LA—I/List-1 A —11/List-I1
(vfor-Ewra=e ) (afRT)
(Animal association) (Definition)
a. &AM/ 1. e Areet R
Cooperation TP ST STfea
B ¥ / Close
association in
which one species
benefits
b. WRuERar/ 2. frfyra |read
Mutualism T ST Sfert
T B &/
Loose association
in which both
species benefit
c. VAferen/ 3. e e R
Amensalism iRl SITferat
T B ¥/
Close association
in which both
species benefit
d. eHIfoar/ 4. T S gus S
Commensa- @1 gig 1w
lism oA 8, fg 99
TR 3R el Hell/
One species inhi-
bits the growth of
another species
but does not feed
on it.
&e/codes :
a b c d
A) 2 3 4 1
B) 4 2 3 1
< 1 3 2 4
D) 3 2 4 1
(A) « FRIm—RIfoe AEed o/ aF
STfergT emTfead Bl 1
TRIYBHTRA— e Aread SR
T ST rHTfad Bl 1
YRiferoH e Tl SRy ey
%1 9fg B T e ¥, g
S R MMM & Bl |
et —ee A R
TS S erHIfead il & |
ST Bl BT BT ... THR
BIE

type.

TR | 3



21.

22.

220k

23.

23.

(A) 8urER/bipodal

(B) fgemdra/biramous

(C) famuER/sympodial

(D) RFRT/racemose

(D) © endfern wra &1 faera
RN YHR BT B |
MSfer ATESRaT H9 & g B |
I8 Y GG ¢ B S oel
o, geeHl qA WG WRUGAR]
s ¥ e g 9Ie oI B |
& W9 BIAF hydroid B4 €,
R T8 PreAr H & & qo0
HE-HO BIgS oW R B

SATFARIIR YTIT AT &—

Auxospores are found in :

(A) |EAEEH/ Cynophyceae

(B) FARIGISA/Chlorophyceae

(C) J=ErmTg™r/Rhodophyceae

(D) a‘ﬁlﬁﬁ@rﬁﬂ%@/Bacillaﬁophyceae

(D) © IFRUR, IRTARITBEE |
RIS B
qgIBgdl & o Seifid
9 & dRE A ger
@ el Ty 9 B, 9
TfFeH, TUSRURY, TaIIRE
IR HrTET |
SR FARIBISAl | Seifiie
ST H e & |
ifie yorg faft = gaeR &
FroTopsl SR —FHarR, AARAR,
TR SR qeRy droel &
A | B B |

T ol A qAT S IR0 & IR

TR HEH B ATS BT T—

Considering the amount of yolk and its
distribution, the eggs of frog are :

(A) geadI! T Bsude!/Microleci-

thal and centrolecithal

(B) AeEgqIqel qe Mellg !/ Meso-

lecithal and telolecithal

(C) TgdITen! qeI FAMUTa!/ Polylecithal

and isolecithal

(D) FeUIaad! T FAFUAST/ Mesoleci-
thal and isolecithal

Grdes & A1 G201 9D fAaR0T &
YR R HEH & S70S ALY
AT MeATGYIdD! BT & |
AR, FerdhRar qen wrhrsiieas
B TS YIRS B
Insects & A0S B Yl YBR
@ B B

®)

4 | AGRAWAL =XAMCART

24.

24,

25.

25.

SR, ufeRl, TR qon
insects &30S TGP YPR
@ B &

Gl feTehy ST Brell &—

Polysome consists :
(A) TSI 3R &1 3R T ¥/Ribosome
and t-RNA

(B) SR/ Lysosome

(C) DA™ S?I'\THFQIHIH/Chromosome
and centrosome

(D) TSEH SR TH MR Y9 T./Ribo-
some and m-RNA

Trel™, JZaM 3R mRNA
¥ FeAPBR o1 BT T

TSR 1 TP A8 HRIoR RNA
(MRNA) & Te 370] §RT U T
T g & AR WS HRerur
B FIge FAdT &, A
1 el I & |

ATSHEE B ATHSAT Bl AT
ol Pl S B |

FreferRed 3 3 ford Swaer & FSferd ofs
AIGT & TR H fAHRIT B & dor o7y
Hedh 9D T o Y A &7

In which of the following amphibians the
fertilized eggs develop in the stomach of

the female and little frogs come out its
mouth ?

(A) Jeidegr/Salamandra

(B) Raiex@/Rheobatrachus

(C) QswferNbe/ Q Ichthyophis

(D) TeTsfed/Alytes

(B) « ROTREHT TG SHIAX H
fra ofs AT & MR #
IR BT & T2 Y Hed SAD
g ¥ STEX 3 ¢ |
HIET VAFITER 30 A & | 370
ATET B <8 A o faetid B ®
R 379 et fdert & |
e ¥ fAsRId Bax 99%h I
Bl
HIET SHRRANMGE T 3ITE &
IRT R AELMIGED BUSTerd
BIBY STDHI BT T IGHA TG
e B B | 9 UHR IE UgH
RET0T Rl B |
TdATSfed & fisas® ds &
A A N ST E | AT g R &
TE I7UE B IR Bl AR AN
PHRAT B |

(D)

26.

27.

27.

28.

28.

The stain orcein is obtained from the thal-
lus of :

(A) T Tt /Rocella sp.

(B) weTeI=aT gomfr/Cladonia sp.

(C) st gt /Usnea sp.

(D) URHfCRIT YATI/Parmelia sp.

(A) © 3R FH el IoTifa @& derd
X 9T o e B |
AT YT TS T YAl & |
TSP P SUART | A A
I & forg fomam <rem 1
IR feaIRaT & U< e
T < et B, R iR
T el ST |

fTaraifee Td ¥od & AR

Fr=faRad 7 ey QRI1 90 D141 ©7

According to Geological Time Scale,

which one is the oldest period among the
following ?

(A) BfF@=/Cambrian

(B) BEIHRE/Carboniferous
(C) emeifaf@/Ordovician
(D) ufff==T/Permian

(A)

e e ersd Yod
TR, BRSIT T YR T
Bl

YfereNiIs® welded B 6 Hedl
H gt a1 ¥, R w9 e
B B—

1. BfFsra=

2. aeEifafa

3. RigRas

4. fsaita

5. BIETHE

6. gfHa

DT G Tl 87
Which pair is correct ?

(A) W—ﬁ?ﬁw/ Cruciferae—Pen-

tamerous

(B) geril—aTgaIierl/Ranuncula-
ceae—Bicarpellary

(C) HRISH—T=EIBR/Capparidaceac—
Androphore
(D) FHRIACHT—TFATgel A~/
Cucubitaceae—Axile Placentation
PRISH—TBR, Tl TH &
e 3 fadey gAferd =& 1

©



29.

29.

30.

30.

31.

31.

7T |RQUT STa pret 3 I AYHGE HYA
PR B—

During its entire life the queen bee copu-
lates :

(A) H9a TF IR/Once only

(B) ®adl ] 91/ Twice only

(C) @9 W IR/ Thrice only

(D) ¥q</Continuously

(D) © U FEU SiaTHel A I
AT T HYT B S
M AGATET Bael T el ¢ |
I AgFEE R smel |
R Bril &, efeifq 32 JoRs
B
TS HIA U BRI &— 370 Bl
ST, I8 GRS SRTHT 2000
TS M B |

TR e 7 UfeRierd o1 e af B—

Chief function of Pedicellariae in star fish

1S

(A) TI9/Respiration

(B) U®dsHAl/Capturing

(C) =5 X@I1/Cleansing

(D) RIAMI/Feeding

(0) » ®R b 4 et &1 g=1
PR TS T & |
R e ¥ va% RIed §1R1 Bl
T, T Ugelt Fad B
TP A1 el dasd a4
T, HIoT U o, Soaoid
TAT a6 A HEIF B

fa-HaR TFe B ¥ T Wror 7 I Y

TR I T IS TS 9 31

B, A1 3P BRI T—

In a dihybrid test cross if parental types
exceed the recombination types among
the resultant progeny, it is due to :

(A) SFgeri=dT/Linkage
(B) qoui \eew=a1/Complete linkage

(C) T 3UYe/Independent assort-
ment

(D) faf#a1/Crossing over

(A) o - e B A YTl Wor T 7
IS Y <ISUd I F=A Gifea
TS ¥ A &, 1 ST BROT
forasT I
T ggEA—aredl § fafr
LN B T Th-gER A
WA B B, Al U reror
X &0l gHIfad ge oA
afoRt § G B B |

32.

32.

33.

Ul eI U e
ol < wen Vg wa &
BRI

I fafa @1 fg=m gomen |

FrfaRad § & o= St T2 2

The binomial system of Carolus Linnaeus

was devoid of which of the following
categories ?

(A) I qAT SA1RT/Genus and species
(B) @ 2T 70T/Class and order
(C) 9= doI gel/Phylum and family
(D) SIS @I a¥/Kingdom and class
(C) » WIRrer foafasa b1 fg=m yomed
H E q1 A Bl Dlg A0 T8
Al
IRTer fATR B g gomedt
BT TP Bl oIl & |
11 9 R DI-41 AaTeT e T SHD e
TR &1 Fel A &?
Which of the following Algal group is

correctly matched with its food reserve ?

MCIC R T WS
(Algal Group) (Food Reserve)
a. SARIRAGIEA/ i Te1/0il
Bacillariphyceae
b. SrFelHEl/ ii. g/
Xanthophyceae Leucosin
¢TI/ iii. #fcrer/
Phaeophyceae Manitol
d. TR/ iv. dregfest/
Chlorophyceae Volutin
v. Starch
®e/Codes :
a b c d
(A) iv i il v
(B) ii i iii iv
(©) iv i ii v
(D) i v il il
33.(A) SraTer g e
I
KB
eRAeRA  dregie
SIS e

FARMGRA o™

34, SNfHE TS & IATH G~ Bl o—

34.

35.

3S.

36.

The Valamen of orchid root is derived
from the :

(A) STg & Barard |/Phellogen of root
(B) SI€ & WIRM ¥/Plerome of root
(C) S & SHSIE W/Dermatogen of

root
(D) W€ & TR ¥/Periblem of root
(C) « dMfdhe T & I, T B
SN ¥ YA B B
SIS @ BAlSd 3AREed
st & A IR a1 Ui A
TRAl & R ha BTG i
T B & |
T T ANy S 9T B WAAD
ATT® &1 DI BIX SN
e RIgT & STgaR ¥CIeT 3
S @1 B 19 B R IR Rera
ARBI &7, 5T @ RIRM 9 |
RIS (& TR S BISURSNT,
PICHT R VSIS Bl o+ el
Bl
ATSeIhH RIS wrfeed fferRad
HA § ¥ D I T8 &P
Which of the following statement is not
true regarding cytochrome oxidase ?

(A) TE AIZSIPI=gAT # TR ST /1t is

found in mitochondria
(B) TE IS B Seldgi- TAMFIRA

PR B/1t transfers electrons to OXy-
gen

(C) =" Bael e BT &/1t contains

only copper
(D) 399 qmE1 1 @rg | 8 B0t
contains both copper and iron
WP STaiTSol H dael e
BB
HISCIPIH SfTRITeST U ATIh
TEH TilgH & Sl 99 f3ieetl 7
IS U7 GRas AT BHH BIF
TR ORI ol BT ARfETd vl &,
R o8 Rerd B
I8 UM M B U anfas
AT B FH IR B, T
YBR ATP SUTET &I AN
AT

i saram 92 1 STBR 60% T 91
HHT & | U8 qd: Wl & Frforiad § |
fras gfg w1—

Regular excercise can increase the size of

muscles by 60%. This is mainly the result
of an increase in the :

©

TR | 5



36.

37.

SIlE

38.

38.

(A) DI TN HIRTHEST & A H/
Diameter of muscle cells only

(B) ®aa T ®IRHRN @ wen #/
Number of muscle cells only

(C) Faa T PIRTHIS & <R TLNDH]
@ G #/Number of myofibrils
within muscle cells only

(D) Sudad a9 #/All of the above
(D) Tafia =mm T2l & STaR 60%
TH 9g AT &, T8 &I B &,
ISgaT A | ghg @ | o —
1. e pIfTaprel & <o H |
2. U BIRTBTAT BT T H |
3. U PIRTEIRN & TaR YNSRI
&1 AT H |
HeHoldl Td Pl B IMHAY A I
[ERERANECRE ECI REIRC BRI I

Pinus protects itself microbial and insect
attack through :

(A) I BIeT 8R1/Thick bark

(B) wael RN HiR@Iel B w4/
Number of muscle cells only

(C) ®waa 9eh HIRTHEIT & 87ax
USMepIfRrapTall @1 Avean #/Number of

myolibrils within muscle cells only
(D) Sudad a9 #/All of the above
(D) q&HSlal Ud Pl & SApHI |

T STdad AW B FRT A

YD AT & | ORT—
1. 9IS B gRT
2. Y PRIl 1 |E 7 gy
BRI
3. Ue PIfRTHIen @ o=y U
PIRIBIS & | F hg G|
TQfoaret fred) grera: et &t iy S

87

Alluvial soils are mostly found in which

region ?

(A) ST R H/Northern India

(B) &l WRd #/Eastern India

(C) <f&lt WiRd #/Southern India

(D) ¥Mfes S #=/Gangetic Jamuna

plains
Tgfaae e gea: Mfes
ST & W R I |
el fedr a1 vofade fied
HRA B ATHT 40% A & P
PR PR B |
% e fredr &, i AR iR
Al gR1 S fbIRI & e
M qeTse AR e & TG |
T R S &1 Sch B

D)

6 | AGRAWAL =XAMCART

39.

39.

40.

40.

41.

qEeT & a9 ¢ | e & 4=
T A IRRA AGASS B ¢,
i1 S AR e a1 «ret T
ENIRIICERE i B e G
el R # 18 SRl &

T2 UfhaT, 78T SaIRal & S S 4 Irel
BT SR YT BaeX B U H ARG
B &, HEARN 85—

The process where Bacterial gene are

transmitted from donar to recipient as part
of the sex factor termed :

(A) S/ Conjugation

(B) WaTSddd/Sexduction

(C) Sr®HA/ Transformation

(D) grgsa/ Transduction

(A) © 9% Uftsar, STef SFARAT & WA
AT T BT SR e BeX B
0 H TIFRT B &, Bl R
FEE S
ATy SRIBIET Teb STl STy
A qad ST BT AT
IR EGISIEEC I I S
IRUTAEeY ST &Il &
IR MR TR YT<Iehd! Sirar]
T SATERTER U7 b1 Srrefa
BRI
TISFM H, SV Acciden-
tally U STy 34 &R SfaTo] H

TR EIRT XAARE 8 S |

H TeT @IC T N B
In Palaemon the hastate plate is found on
the oo side of cardiac stomach.

(A) gseg/dorsal

(B) uredd/lateral

(C) $&M/ventral

(D) g/ adial

(C) © YoM H HISiid SRR &
TR AT H BReC @IT UTS i
gl
T BT | T U B
T e Sfeidrel & HE
gl
Tl # TS & el 4
TR TR s B ¥

SRIeTd Ug YUl el §—

Interventricular septrum is incomplete in :

(A) T %/Rana

(B) ﬂs\fﬁm #/Uromastix

41.

42.

42.

43.

43.

44.

(C) PreT W/ Columba

(D) 3NR&EersT #/Oryctolagus

(B) © SiaxIfyery gce orqul BT ¥
RriResd ¥ |
T H g FHIaerd g g, o
] 3ifReer va U dfeferat Bran
T
Prer 7 g2y i TR 99N,
|IZTIE dTIEME U9 BN
AR ergufierd—
AT ¥ ged IR I8
AT

A gfafAfee wxar s—

Lomasome represents :

(A) PRI FX==T &1/Membrane struc-
ture

(B) ARAHIgIS THHE B/ Mitchon-
drial equivalent
(C) =R Bl/Plastid

(D) I \<a=T &1/Irregular struc-
tures

AT R R BT g e
PHRAT & |

U SIET] HIRTAT § ATSHT
el & wifed erqdas &l
AT D W9 § ST ST B
BaH H ATH et & dTex B
3R F&H B AR Fedl & |
=1 % foret fawmo) 3 agafe vated <.

TIT.B?

(A)

In which of the following viruses, DNA
is the genetic material ?

(A) ATAE/TMV
(B) THTH2/MS2
(C) @1/ T phage
(D) T-Iq?j‘c}ﬁ ¥ 3§ PI$ 78l /None of the
above
T, B fasmyy # srgafire varef
DNAE|
TMV &1 QX1 =M Tobacco Mo-
saic Viruses & |
TMV faur] & srgafies dared
THA Iogd RNAE |
STETETSt MS2 H Sgafid
TaTe Thal Togd RNAS |
ASSH! SgeT TRIT A §—
Centripetal xylem is present in :
(A) fEE9= S #/Dicot root
(B) fgdIoT9=l 99 |/Dicot stem
(C) THSIA I H/Monocot stem
(D) & &1 TEnali §/Branches of stem

©



44.

45.

45.

46.

46.

47.

e bl STgerd fedoTal o1g
¥ U7 ST B |

[ECISEEIRS SIS S [
AR IR 75 H PR T Ok
PR IR B | 3N et B
WISREIeT AT ST & |

SIIge™ EHE TadTd aidl &,
Tl fa%es & afd
HIe & BRI, SATTY Werige™
RIS & R AeISe™ drs B
SR BT B |

58 T & A YuRTeT IR O §?

Chapparal occurs in one of the areas?

(A) STHIHT/Africa

(B) wTsaRAT/Siberia

(C) reT/Canada

(D) ARSI &=/ Mediterranean area

(D) © AR &3 AroRret T Ty
gl
TRl BN SAAarg Y AT IR
el |fddl & |1y T Bl B |
9 &1 A a9f 609 80 cm, SEH
S, e iy O ¥

Tl W fager B 5 —

Cleavage in Amphioxus is :

(A) UI9SH T |9 /Holoblastic and

equal

(B) qUi¥Sil {21 &/ Holoblastic and
unequal

(C) STer¥Sll TN ¥cel/Meroblastic and
superficial

(D) STIHSH oM AfehaTH/Meroblastic
and discoidal

TEreieRd ¥ fager qofwen
TN A B B |

I fowel g 7 91T S B |
TEOISHRI B TS EAUID]
YHR & B & |

TFHISTaa & 3Us H Cyto-
plasm >> Yolk.

e el PIRTBN WS’ (SCP) |affd
BT B |

The term ‘Single Cell Protein’ (SCP)
refers to :

(A) T PIRTGN A T WEA DI/ Protein

obtained from a single cell
(B) TS BIRIHT B AT A YTl Herd

®1/Protein obtained from the prog-
eny of a single cell

(C) ¥aTel, Had Irral ATy B T
T 1R gfg & U<t Ui @1/ Protein

obtained from the large scale growth
of algae, fungi or bacteria

(D) TISTOI-31aReT YIe &1/ Virus coat

proteins

(A)

(A)

47.

48.

48.

49.

49.

50.

50.

I UHeT DIRIHI WK (SCP)
RATA, FHIEH AT SHaT] B TS
T R gfg | U weE @
AT BRAT B |

& TP G&H SN Sifdd R |
Jg Wfas WX THA &Nix
IEPIRTHII & Shdl a1 A
T B B |

& Sl Bl YIS & e AN
0 § IS YHH IR ST fhar
T ]E B
Fr=fafed & & oF-w1 A9 S B
Which of the following is an caadromous
fish ?

(A) $e/Eel (B) @rd/Carp

(C) RBe/Hilsa (D) 7T/ Goby
(C) « feeuar 9me A I T

R T ST YAl Hoel! & |
3 IS U SEIgS H YA HRa
Bl

R & g ¥ P8 fPeimey
B g8 W =G B fo1g ST e
Bl

T dergEd yarEh e @
TR & |

ST ST # = b1 37f BrelT B—
In arithmetic average the meaning X of :
(A) AT IRTT/Sample mean

(B) afeal @1 ¥vedr/Number of indi-
viduals

(C) SrsAT/Summation

(D) =AfRT™ A9/ Individual measures

(C) © STHIPRNT 3T § = &I eref
ST B B
Nd Bfed olex, ‘S AN &
i = & fore wainT fosan
ST & |
JGA 4+ 8+ 12+ 16 + 20 +
24PN 60 = 14n & w9 H T
fopam S bt B

Reré-aTafy 261 BRI T o 3

Retort-shaped cells are found in :

(A) tFﬂflﬁiﬂ/ Funaria

(B) TR/ Anthoceros

(C) =PIAISTA/Lycopodium

(D) ¥HTH/Sphagnum

(D) « Rer-3nafi & HRET T
H R W ¥
Rere PRI ThiH 3§ A &
T Picas Pl o= & |

©

51.

51.

52.

52.

53.

S 8 s el
PIRTH IR BT & 96 SRl &
IR e A1 R & MHR &
ERISIE]

P JFARA F TR IR IR

STeIfs e PRI 7 el ?

Which one is found in endospore of bac-

teria not in vegetative cell ?

(A) % TRIS/Muramic acid

(B) SrEfUaIerta RIS/ Dipicolinic acid
(C) TemgdIferad TRIE/Glycolic acid

(D) SWE ¥ ¥ PIg 781/None of the

above
SRfIfTe Tire Tl &
TrONUR H UM I ©, Sidfh
FID DIRABT H T8 |
e Trs, daa ST
R et aret bl BIfhT b
AR H U S 9ol R
U<ZS $1 Tdh UChH ¢, AP
T TS AT TABE WBRANSD
A I Bl & |
T DIeTD TRIS T8 T el
AR afeordl # yrar S el ¥,
AT STH A A Sl g
T~ BT X9 & 3 WA 3R
Afeorar R Tergdiferd TRrs
BT &, 4 §—CHIER, F—T4,
Feel g9 SR qUI |

& T g A A DI AR T B

7?

Which of the following floral formula is

of Family Rosaceae ?

(A) @ Q/Eplg K5 C5 Aoo G§
(B) (2] Q/' Epi6—8 KS C5 Aoo G(S)

®)

© @ Q" Epis K5 C(s) As G

() © @ EpisPy A3 G

(A) © ISR BT BT T oA~
®9” Epi, K,C,A_G.,
K—Tereet gof
C—=YS
A—gHER
G—elbaR

DA G Fel T8 87

Which one is not correctly matched ?

(A) ®leT — e Bgax/Cotton — Fruit
fibre

(B) TR — #AISidd/Coir — Mesocarp
(C) S — T WIS/ Jute — Stemfibre
(D) TN — 9 HISax/Bast fibre

TR | 7



53.

54.

54.

SS.

sk

56.

56.

(A) © PBIET—FAAR BIgEN
FARR—HISHTBId
Te—a T BIRER
TART —IRC BIEER
fr=foRed & & dF-\1 w8 gafera 78
77

Which of the following is not correctly
matched ?

(A) Wedh — MaArguad! e/Frog —

Telolecithal eggs

(B) ®Ic — durad! 3/ Insect — Cen-
trolecithal eggs

(C) = — qeAdiae! afs/Mammal —
Microlecithal eggs

(D) u&l — 9gdiaehl 3fe/Bird - Polyleci-
thal eggs

(C) © TIN—TeIRiee Ivs
Hep—TMeAlg Ui AU
BIe—DUldl TS
el —agarae! TS

fefaRed gfiRaragfem smsi § |

DN D TSI &2

Which of the following immunglobullin
molecules is largest ?

(A) IgA (B) 1gh

(C) IgM (D) IgE

(C) » vRReTAgferT srupsii 4 31 [gM
Aaiferd g1 B |
IgD—38 Yq@ Rod |8
YET § g9 B AR Ao
PIRTEN & F ITSTD B
SRAIM AHHY aEIRE 3%
YFARAT S IFTSTTDT BT IR
HRAT B |
[gA—ATSHITTTA STHATT A
RIPIFA D] DI & BN AR
HAISHIIIIST & Arel giaRen
RHARCRTE 917 <4 |

RA ¥ YR ST GTell DF-<1 19 fawes

&7

Which of the snakes found in India is

non-poisonous ?

(A) T BIeR1/King Cobra

(B) 9NIGR ®¥d/Banded Krait

(C) 9131 dHRTFR/Boa Constrictor

(D) 91 feHTeTd &1 ar8UR/Brown Hima-
layan Viper

RT A YT S 9Tt 913
PHREFR AT e &
Bl

©

8 | AGRAWAL =XAMCART

57.

57

58.

58.

59.

59.

o1 BrexT @ fafi gonfaat
Mt <9 ¥ fAerl B
w1 Yp, URRfRT va Fifiess
BRI T

iyaTTSIG &/E—

The antitranspirant is/are :

(A) QTaT. (fBga aRagR® THee)/

PMA (Phenyl Mercuric Acetate)

(B) MUY (31 THIfed URTS)/IAA
(Indole Acetic Acid)

(C) T 7a (WfeTs Egeiengs)/MH (Mal-
lic Hydrazide)

(D) Sudad a/All of the above
(A) © PMA (f5Trgat TREgR® THiIce)
YfyarsiIToie & |
IAA (=1 T¥ifess TRIS) Ty
BN B |
MA (Hfere 81 gIoTIgs), ey
TR fame & i i fasms
BT ABDPR TP Bl HH BT S,
QR IR afg B 78 |
fre 1 & Fe=dl & “RIARE" arn s
¥l

In which of the family group “Sinigrin”
is found ?

(A) WA H/Malvaceae

(B) ®c¥l/Rutaceae

(C) ST #/Brassicaceae

(D) SW& # | Pis 776l/None of the

above

©

SRR TRaR & g Urell 7 u1g
SIERCI] =% & gRAR
SREIECR

TR 3 372 BIel &—

Feeding in Sporozoa is :

(A) PIRTBRRI §RT/by cytostome

(B) ¥|UT§™/autrophic

(C) g&Rel gR1/by micropores

(D) w&sT/ciliary

(C) © RIS H YEARYl gRT S
BB
TARTSNSAT (BISAH-GISISI3T)
Siad =% H dIS-Ted a1
qRI-fTeT TR Snfiet B
T 3N ST TgfaEue R
BB

60.

60.

61.

61.

62.

62.

o 9 Y b oI &)1 SrSieelt &l gel
TR I R 87

The phenomenon of Bradytely is oxhib-
ited by which of the following animal ?

(A) DIt FeRRErsT gR1/Neocerato-

dus only

(B) Waer JISHRAT §RT/Latimaria only

(C) @9at THAIEH gR1/Sphenodon only

(D) S9ga A & §R1/All of the above

(D) « fyenfRersw, «r&mfRkar qen
TP ERT SeIeel HI Fe
TafRfd & oI B
eIl B HeA | I I8 §
& fapra aRads v& T
& 1 A ANG srafey 7 wga
T Y & & Y@ T
THIHTS ST SaTed PHEerr
s, i I8 IR Bt 3 34
TReT H SAfad B
frenfaRcisd  Fdidcdvs
(sreeferar) @ ReR ererar Hg
qIfed &R, AT o7fs 7 fAew
8l

T S §—

The tendril shows :

(A) wRITgUac/Haptotropism

(B) IS/ Chemotropism

(C) Yeremgaci/Phototropism

(D) SeTgac/Hydrotropism

(A) © YO wRIgYedE e &1

BT Sg B e

¥ RIS ST §RT TaRe
5 T el & faer & w0 A
RIS foam T/ & |
RAIAAAd ST, el 3R
PP A <= T 5 |
YRR TRl 1 fem 7 gfg
sl

SRTCRY BT AR B—

The sorus of Dryopteris is :

(A) T3 9&R &1/Mixed type

(B) WIERU bR HI/Simple type

(C) IrgPAd UBR &1/Gradate type
(D) S H & P 7l /None of these

(A) © SERY @1 ARd A3 ger
BE|
IR gofodl & gEa
MATHR SMHR D AR GRT B
ST Gl B |
ARA & & PR & IR
Sdd A B B B |



I8 GRRIT &I hg Dl T8 U olel
8l

63. fF=feTRaT THieRoN § & BIH-37 3Mfogs

63.

64.

64.

S 1 7o Rigrr il e &7

(A) STAT —> RTAT — YIE/DNA —
RNA — Protein

(B) RTTT — WA — T~MSH/RNA
— Protein — Enzyme

(C) W — IRYAY — ST/ Protein
— RNA - DNA

(D) ST — WEH — ARTAT/DNA —
Protein —» RNA

anfeae Sifad @1 qor Rigr
et BRer 5—

UIT — JARTAY — W/
DNA — RNA — Protein
U gfapia Fme g &
DNA Polymerase &IRT Y¥& R3]
T & forg STT & TS T
B SYANT SHelE & w9 #
ST & |

Tfad dre R ol Sgaeriar arRl
IR B—

Seeds having longest viability belong to :
(A) AFMFEIH/Chenopodium

(B) FRPH/Quercus

(C) <ffU=4/Lupinus

(A)

(D) gdfeTed/Eucalyptus
©) © qfr7a & )5 foad o=
IERIAT YR Il & |

U SMBICHH B ol FH-
-4 10,000 I YR I foedi
H 91T Y &, i1 RN g B
T wY | T E S | TR
SECCRAD]

& JARTRIET 3 ST ¥ STHRA
BT AR T A AR w@aee] dell
H faofid gu g1

65. NBRAEH PBIfETH F T Brar &—

65.

A prokaryotic cell lacks :
(A) BId IFD ST A e/ only
histones in its DNA
(B) @ael HIRIHI Tk /only cytoskeleton
(C) ®deT SY-BIRTHA T/only sub-
cellular organelles
(D) Swgad aM/All of the above
(D) © UraRaAMeEd HRHT & DNA
foRe =Tl Bre B
NRAfeE HIRH § Fease
DG el IR STl 8 |

66.

66.

67.

67.

68.

NHRAfeHs HIE § |ag—

CRAered TE IR I & |

Trofafes st & SU-

PIRTBI ST & TR ST & |
JRISIE (FReEM) ARA, 1972 # Feaqul
T YO Y T T—

In the Wild Life (Protection) Act, 1972,
important wild animals have been placed
in:

A) = aﬂ?ﬁ'@f #/Two Schedules
(B) W o1l 3/ Three Schedules
(C) dfa Hﬁﬁlﬁ ¥/Five Schedules
(D) ®: SR #/Six Schedules

(C) © TIIa (gRem) S, 1972
o U9 g™l A He@qul 9
1ol X T E

T Sitg ARET0T eI, 1972
I ST el SiR SaR]
ENUSRIERC R L b EI R RRIER]
EZIRPIRI

Ig AFIIH S -BTHR B
BreaR R 391§ B

T P W TS AR H der
Tfg IR e S o, I
H 9RA H 101 IR I B |

Rffh—
The genetic code is called degenerate code
because :

(A) TH Pre Pg AT T &/One

codon has many meanings

(B) T Bl W 31 DI FAME HfAT
G &/More than one codon has the
same meaning

(C) TH Bre T M Gl &/One
codon has one meaning

(D) TIH 64 BISH SURLT BT &/ There

are 64 codons present
IIalied PlIe, SUBNE B
FEART &, FAMD Th Do |
e Prer FHM AT &
gl
SIS CIN GG IR CINED
T B WY TRE
TSI Pl WS H Srgdra B
& fau Siifad SiRrersi grR1
SUANT fhd S arel FaEi @
I &

Pae a1 IR FART (W2 ares) drel

RIS T ST B—

Only smooth walled rhizoids are found in :

(A) Rfd/Riccia

(B)

68.

69.

69.

70.

70. (D)

(B) WR&341/Marchantia

(C) ufer/Pellia

(D) wgIRaT/Funaria

(C) © @aa faer iR T arer
TgSIRISH Uit T I |
Rfdan # I IoR & Isvasd
T TR E—
1. o1 SrereT iy aret |
2. IREITS
AT R # et fafdre
IEARISE B 8, oI &1 TR
J fawfra o o \waar &—
1. TYERFYLICS NSAISH

2. Tt Ry ret |

fafes wrew fFferRaa 7 3 faras Sua+

H T8 IR WRh 77

Protein Keratin is not found in the epider-

mis of ?

(A) ¥ &/Fish

(B) |9gY &/Reptile

(C) ueh &/Bird

(D) 1 @/Mammal

(A) © THxfeT WS A9 & S A wTa
Y Il & |
foRfeT T WRIRR TS
A &, 91 U] Brferamra F urit
ST & 3IR IR ! a1 =
@ forg START fohar i & |
R w9 9 I Baa drecd
Tell, weel, WYY 3R IFTAR
i

qHl & TTIId AT WRAAIR Bl

5 YR e ARy ?

Weeds of the fish pond having fry is
removed by :

(A) TR 9/ Weedicides

(B) eI ¥/Herbicides

(C) HIeRIS H/Pesticides

(D) i@ 37axaul J/Mechanical up-

rooting

B B Teagdd a9
ERUAAR P FTNH  SaRIqT
YHR ¥ e ey |
ATIHTI FeATa TIRUAITR
qHE1E @ foT S | SwnT
I ST dTeil WEMTRIS Aol B
JPEH Uga T aFefa 3
R e B

TR | 9



STl o i @ R BR
@ ToTT SToTRr SR YT iR
AR TR ST fHY S arer
e & |

71. T SrTgaErS Wl H | D41 e

71.

72.

72.

73.

10

T, e Iedl 9R I Jel o1Y-
SISUTE S 7 UaT ST ¢ T e
TR A dor B ¥?

Which one of the following gymosperms
phyla produces motile sperms, bears
ovulate and microsporangiate cones on

separate plants and has fleshy, coated
seeds ?

(A) BIFBRIEEET/Coniferophyta

(B) Wrs®eIwEer/Cycadophyta

(C) *NArBrger/Gnetophyta

(D) S9Ya ¥ PTg el /None of the above

(B) « VgPEIBIEE GG Fell
A Tfeier 991, eferT uredl W
AISTIST T2 egIsyEe 21
a1 F=a1 & J1 RS RER
AT ot BT
PIMBRIBIZST ISl el
# iRt gS oI, orEe I
(@) &R YS9 <11 ¥ ¥ U
S & |
PIFTPRIBISST & IFdid A/
YRR & TS AR G enfirer
Tl

TS T YRIRTE 1 Sl I8 ST Bl

¥, HEEA &

Leafless stem of onion which produces
flowers is called :

(A) USf@er/Peduncle

(B) WelRel UfeTd/Floral axis

(C) TU/Scape

(D) Xfds/Rachis

(C) © QN &1 WIR(ET a1 Sl g
ST ST BRAT &, ¥ HEAT & |
Usfbel TP el AT JOIhH B
T B
el b1 e &1l TOrT UR YSTeT 37T
3R 31 WD 1 I B & |
TR T BT & |
Xfrd Wi & TS # Petiole B
IR @1 |affa o=ar ¢ |

St A A9 SuoioRi S B ¥,

frfeRad 3 3 fopras hereasey ?

The new varieties of a species are

produced as a result of ?

(A) g&q fdar &/Microevolution

| AGRAWAL =XAMCART

73

74.

74.

75.

755

76.

(B) T®fa®™ &/Macroevolution
(C) <rEfId™T &/ Megaevolution

(D) TR=R %W fadr &/ Straight line

evolution

& [T & pereasay Sifadl
Pl 9SSRI ST~ Bl & |
T% fae faemarel et &R
Yol & ¥R W HUX Bl
gfgpaTall & Aafid HxaT & |

e e faerae § 999
ATCHRT TSR BT U BRAT & |

A H STURT BT B—

Placenta in humans is :

(A) s, MNfeTFarsed,
BMIPINRTe/chorionic, monodiscoi-
dal, haemachorial

(B) Iradiap, forger, vhieliferammiRae/
yolksac, diffuse, epitheliochorial

(C) VAASH, PicaTsRI, THITTSI-
ofiferaet/allantoic, cotledonary,
haemoendothelial

(D) VeraIs®, SRI, Reswaie/

allantoic, zonary, syndesochorial

AEE H eWRT BIRAIND,
MAIfSErarsea, BHIBIRI
BT B
RICT U U1 37T & Sl T9iawe
P IR M9 19T A fawmRid
BB
TRIC AN BT AR BT AR
A IS S & IR Yo Bl 11
TN & et ¥
e, B, ATeA-wdTel Ud Sretord fahe
ORI & e &7

Cauliflower, Cabbage, Knol-khol and
Turnip belong to how many genera ?

(A) UH/One (B) &1/Two
(C) WH/Three (D) TR/Four

(A) ¢ T, B, AA-EA TG
YIS U SNRT & e & |
TN, B, ArA-Erd T
TS SRIBT AHS SN |
NEIECES
TR B 9= T SR
SffferRyaT 1

TS FARIB ‘a’Far darel, foraa ot

Sae oIl W § der R R

PIRTBIST BT THTE &, 3 T BT T &—

An algae having chlorophyll a, floridian
starch as storage product and lacking
flagellae cells belongs to the class :

(A)

(A)

76.

71.

77.

78.

78.

79.

(A) aYRrETer 9/ Phacophyceae

(B) F@RIBISH/Chlorophyceae

(C) et draret a1 /Rhodophyceae

(D) Gr7eRa daret ¥/ Xanthophyceae

(C) © TH FARIMBA ‘a’ Jad ared,
e =l S ggoil ="
ELRINELERIR EINE )]
371G S, AT RdTe a9 Bl T
sl
NI CHIC T N e
‘a’, ‘b’ AT TIHT T SATEH
QIR B |
FARIBIS a7 & Fag | Chl.
‘a’, ‘b’ qAT SHPBI il SR
wH

ST TG UG Jrafere yarel ST

BT B

Nitrogenous and metabolic wastes are

stored in the :

(A) vfEenfed el #/Amniotic bag
(B) STORTAING®T #/Allantois

(C) et draret ot /Rhodophyceae

(D) raeRa aret a7f/Xanthophyceae

(B) © TS T SUIEA IMfTe
TS} STURTIINGT H ST BT & |
ATl YaTed O BT HR ST
oI w5
EAEIRT Bl T AR —4o1
Rreel, S féewe I i a1 9eh
B w7 H IO B B

IRAIREH BT GEHdS® Bl 8 —

The micronucleus of Paramecium is :

(A) feIgfor/diploid

(B) wgIfTd/polyploid

(C) Y<mT/non-reproductive

(D) IRTAT. BT TE FidI/the main

source of RNA
RFRRE @1 geasa G
B B
AT ST Pl STHATST
IgaRe Il & fov e
HERUT T 8 |
TE APYfFATT BN T I
¥ IR |g™ B IR BN drel
RIS Gvfed & forg e
B B

P 9= B § emgediforEl B

Igwd 9 fafgerr afeq gs7?

In which geological era did the emergence

and diversing of angio sperms Occur ?

(A)



79.

80.

80.

81.

81.

82.

(A) uffa/Permian

(B) RITRT®/ Triassic

(C) RIR¥e/Jurassic

(D) WefRra™/Cretaceous

(D) © PRI q-dATTP Hed |
SFgTNTTA T ST Ta fafderar
Hfed g8 |
offer g Awe e
TGS 1 Sgvd Te fafdera
Hfed g8 |
RIS B 3 SRR SR
W %1 3g9d vd fafauar wfeq
Bl

NESENUIGE-S

Reindeer moss is :

(A) RiefRar amserf~s®r/Cetraria is-

landica

(B) FererfTar Y=im<T/Cladonia ran-

gifera

(C) URHIferar/Parmelia

(D) ¥ A¥RGA/Stone mushroom

(B) © XfIUIR H#E, ForSI=>T X=oihRT
P Hel ST & |
Picd, RHICTT BT Hel Sl & |
YRR T BifersiST Tgd
8l
Iceland Moss RyefRan STW?IT}SW

BT DBl ST & |

Ffafad § & o9 sMeR & gag Iq1
ENIRT

Which of the following enhances the
flavour of food ?

(A) FIRRM FEHe/Magnesium car-
bonate

(B) <TgISIM/Tetrazines

(C) IS¢H sffqarss/Nitrous oxide

(D) AT/ ¢lcHe/Monosodium
glutamate

HAAIEIETH /Te[eMe 3MER 6l
G 9 <A B |
FNRRM e TH e 8,
TP ST @w @R Ue Bl
W & AEF M B g
o ST B |

T T g, i drer <
Yo BT & 3R SHHBI AT
Tereit # fopar S b B

F[e -&F I G &F | UPhiG
IR B SrgaRiel (fafderdn) weemd
3

(D)

82.

83.

83.

84.

84.

Diversity of the habitats over the total
landscape or geographical area is called :

(A) T fafaer/Alpha diversity

(B) ey fafdedr/Beta diversity

(C) v fafaerar/Gamma diversity

(D) T—Nﬁ’cﬁ # ¥ PIS &l /None of the

above
F[e &7 A AAD & |
WIpfTd AR & SRR
" fAf3erd” Feerh 1
T fafaerar o T wax &
MR faft= Arge ar mara |
TRt B e fafaerd & v
# gRYI fhar Tam & |
Srer fafaear gomfral &1 fafdear
A TP qIfEReT ¥ EY AERvT/
qIATaR0T § YR B AT B
PBIOR B FH IANIET B &—
Copper deficiency leads to :
(A) BT &1/Exanthema
(B) BelTeirar & fageet &1/ Whiptail of

cauliflower

(C) B3 T=i 3ra=er B/ Little leaf condi-
tion

(D) STRATA FARINK Bl /Interveinal

chlorosis
BIAX B HHI THOILAT BT
yfaffeea = Bl
Tpor=erdT T WIe H 1Y B HH
BT A& B, SN TS & PRSP
FRT (AT B &
T A7 fed & Jewoidl grl
R ST ®, RifP 9 STl g
BT DR & IR BBRS garef
a7 Ixa B |
6 b1 B BIS TR TR BT
gfaffeT Bl B |
#ifafgs=9 (Mo) &1 &
PIAFATIR B TaTCe BT HiTere
HRAT B |

R gt B © | 3¥reh! fFrferRaa
gzl § ¥ fore wens T8 B 8°?
Trypanosoma is polymorphic, it doesn’t
have a flagellum in which of the following
phases ?

(A) TIUHS/Leptomonad

(B) e/ Ctithidial

© fiﬁ‘ﬂ'\ﬂﬁW/Trypanosome

(D) RMH3T/ Lesihmanial

(D) « T Sged Bl & | e
IATHI3TE UTaRel § HRMH &
AT

©

(&)

8s.

85.

86.

86.

87.

87.

T FEUATATHIATRIA  3Terdn
AT Ryep== AT &A1 3=

T3HT H B aTell o Uil o
TR B |
U W T ATl §IRT
BT & |
O H FARTSS ATad DIRTHRI TR STl
S

Chloride secreting cells of fishes are found
in their :
(A) T H/Gills
(B) & #/Kidneys
(C) IFa H/Liver
(D) u¥= f4eged #/Posterior pituitary
(A) © WO S T ¥ TeRTES TR
PIRTHI IR SR € |
qOell & fet 911 SudHen B
TARTGS PIRBNT ST ST Ty
| GG B UM H HHAU IR & |
FEARTSS 1T DI STIST BT arel
<A Fd B gifear S S
TS CTAU & 3TJdeT ol 8 |
UST BT TR-fa=T fomry <1 88—
Stratification of trees is seen in :
(A) o9 & He™1 §/Grasslands
(B) TSTISH &1 3/ Alpine regions
(C) ¥NdroT & #/Temperate region
(D) SUIBIET=ER AL a4 A/ Tropical
rain forests
US| Bl FR-fA~ITT SUTH TN
AR 9 A el <@ ¢ |
I U ¥ W B © o
BRIBIESH B € |
Y TS THT 45m 33 B |
TIRIBROT SUTHCTeI Iu a1
@ YA GO a1 H Ao
sl
fr=farRaa Sl § & SF-w1 fadren B
87?
Which of the following animal is poison-
ous ?

(A) Bfrefoea/Hemidactylus

(B) IMReHH/Uromastix
(C) X 3MMfeNR=H%/Ornithorhynchus

male
(D) @fAfera/Chamelon
(C) » =R e v faver vy
B
SATfenRre & aFTa: s
3rg I7Rg B FH Bl & vd 4o
FUe) Bl B

D)

TR | 11



88.

88.

89.

89.

90.

12

foudell @1 defie AW
srSfcad ¢ |
BT TR IR & g auf
IRex= & fore gfeg B
fr=feRead W o | PIF-1 w8l gafera
el 87
Which of the following hormones is not
correctly matched ?

(A) wemerfa/Melatonin — STferyaef/
Epiphysis
(B) WeATEIfa=/Melantropin —AET Tfﬁ?ff/
Middle lobe of pitutiary
(C) wIfe1/Leptin — aRTDITRIEAT/ Adipo-
cytes
(D) M/Renin —fR1g] &1 3TFIRRI/ Stom-
ach of infants
R @1 MRE, I8 I
TP TTeH &, 7 fdb 2 |
FACI BA —3rferyaet
AU B —AeT Ty |
QiftesT B —asn BT |
=1 e el ¥ fhae Jegad baday
B T qAT YA, PIASAT AT TS
BRI I8 AARIHT: T BRal &7

(D)

Which of the following fungal groups has
septate hyphae and reproduces asexually
by budding, conidia and fragmentation ?

(A) IRFSITSHIET/Basidiomycotina

(B) SIAIMISHICH/Zygomycetes

(C) @rzfeed/Chytrids

(D) TAMRMIEHIET/Glomeromycota

(A) © PaP FE—NISIHATZDICAT
& Yegad b ag B & qel
YR IS T TS §RI
TE ARAID JoTTd Bl & |
EZEANE G IEHIGIES G R
PR CE HIH T B TP
ot B B, R o9 ohg
RIS e # Bl & Al
e A B &
PaP FHE-PIEleed H O oS
PIRPGH SFRR B 8 |

7 9 -9 Bl H AR aRadadr

Ivaferl Bl 57

Of the following which cestode is protan-

drously hermaphrodite ?

(A) SRHARITH/Diphylobothrium
(B) <rsfaferfea™/Dipylidium

(C) a1/ Taenia

(D) oM@/ Echinococcus

| AGRAWAL =XAMCART

90. (C)

91.

91.

92.

92.

A 9% BIareH # A%
JRUerIT SHARTN Bl & |
sffafean, Swaferlt auvs
TRl fieell & AlRad ave &
BICI 3T H 91T Il & |
TSHATEIRIA Yol SHIfeT N
T, R ot ug © % 9% o=
AR suferT I ies & e B |
T # IfY ufde &1 Aaffia &= aren
MSfY o YE v & AR Y BT Ty —

If an actin inhibting drug is injected into
an amoeba, its movement will :

(A) TR T SIRAT/stop instantly

(B) gaax & SR /become faster

(C) ¥R 81 SR/ become slower

(D) YT I /remain unaffected

(A) © oM § If gl & |afia
R A arfy B e e
EURSIEASIRSSCIRINEG Cas I
e |
IS UF Grerien & R
g o ¥ ) T
SIS A WIS & ST AT
T THPIRNBII ST BT ¢ |
e Srelt & S\ B ¥, fheg
TP G AT B & |

T ARAOIAT qAT ARISIAT FafIT Bl

—

The terms lotic and lentic refers to :

(A) |HKI 3TMAM ®I/Marine habitat

(B) eIelRI 3MaMT P/ Terrestrial habitat

(C) IT& Selig 3MMar BI/Fresh water
habitat

(D) SARAGHE! SN ®I/Estuarine
habitat

776 ARSI TAT ARSI TS
ST AT 6T T BRd & |
JRISAT 7T <ifed s (eifes
oicd o, foga eref i
TRTEN ¥ 1) $hell IR drerar ar
T SRI—%D Y U Bl
Hafid aRar 2l

Teg wRauidl sferfq dfed
(ifed, v &, e aref &
&) ST SRT g8 g¢ I B
HafT BT B

©

93.

93.

94.

9s.

CH, = CH, J%&Id: SRaRI §—
CH, = CH, is mainly responsible for :
(A) FeR™M S & feTu/Formation of

root hair

(B) Frgd ¥°9 & feTg/Formation of

nodes

(C) wall & Tda & forg/Ripening of

fruits

(D) $TIHS 999 & foTg/Formation of

internodes
CH, = CH, §&4d: Bal & e
P foTT SRR B |
CH, = CH, & Tfreli P& & |
TRIA &I Ve Sgfohareier ureq
B & W9 H AT ST 3 |
Iz faem &R Sivar g1 @
I3 &= & |

©

. DI SIATEH BT THR T8 &7

Which one is not a fossil type ?

(A) @I §Tet/Coal ball

(B) 8T=IX/Amber

(C) HHFeM/Compaction

(D) STee/Basalt

(D) © SNTeT SNaTeH B YHR el & |
SR, SIATeH B T PR & |
PG N AR F T THR
sl
PIA STeT 9T SIATeH BT Th YR
8l

. AT A STeuReid) Jead: R

I & S —

Monogenean ectoparasties of fishes are

particularly found on their :

(A) 9o U¥ 9X/Caudal fin

(B) @M 9X/Gills

(C) 3 9@ WX/Pectoral fins

(D) aferT® 9=/ Claspers

(B) © HHI ¥ AT 91—l aRondr
T : S el U T I & |
AR STEIaRSidl Fercad
I U THE & Sl SR TR <l
Tehel IT 78 B UGl UR gl
ST |
AR gReifad] & o9 U
e S 7% ¢ AR S T
AT BRE DI SATALIDAT Tl
sl
3 QRSN & Ia%D ISHIfTN
TR 3R AET ST Yo WREY
gl



96.

96.

97.

97.

98.

98.

TREIRAT H, BfeTeexT fHa™t e el &7
In Funaria, calyptra is derived from :

(A) TNRfETH |/ Antheridium

(B) EFIF@\"}IT"IT?El/Columella

(C) &g 3/Capsule

(D) SMHIH |/ Archegonium

(D) © TREIRATH, BT SbINfTH
| I BN B
BferT STHEeT # TS 9¢ §W
STBITR—IE dex 8 |
& YOI B WRIBIST Yo DN
EIRGIEac R
PIGHAT TRISA HdDl Bl T
g W1 &0 & A |
Badl & SR AIS]-STE®

PRI A foRT B 1

TeU e ufid eraxTer & fAfeRad &
3 fra Schfid & T 87

At regular intervals the heart beat is
reversed in :

(A) ESHfRT/Herdmania

(B) TFHIRieAE/Amphioxus

(C) Tpiferarst/Scoliodon

(D) JRMREERT/Uromastix

(A) © T<g s afa e &
FSHMAT A ST B I B |
THHIATERAE H BIER UREER
ool faeRIT vd g7 GepIR BT Bl
© 1§39 U9 a9 quid srgufierd
BB
TS & &g | 3 999 TP
SiRfpet vd Tep dfefeber B & |

oG ARG A freferied 4 | &

CRECR

Which of the following is permitted in a

wildlife sanctuary ?

(A) ST=I31T &1 3R/ Hunting of animals
(B) g&ll @1 P11/ Cutting of trees

(C) Yl BT TRMT/Grazing of cattles
(D) e, STeTs; Adbel qen ey drelf

B I/ Collection of fruits, fire-
wood and medicinal plants

(D) © ToNd AR H Hed, STeATS,
AHe qel fwefm we @
SERERCH R
I NG FHIRVY H STl b
e afvrd |
I 19 SARIRTY H Gail T Ppre
EINERT
I S FHARTT H TS b1
TR AT B |

99. (C)

100. (B)

99. T ST H SiairerT SF=TIE & &% 0°C

W x D SRR 1A Q& (2) B RIS
%, a1 fy=forRed amoamT # & frad g8
T 8x B TRMER BAIN?

The rate of oxygen consumption of an ani-
mal is equal to x at 0° C. If Q,, is equal to

2, at which of the following temperatures
the rate will be 8x ?

(A) 5°C (B) 10°C
(C) 30°C (D) 35°C
T ST H SIS <80l B

TR O°CIR x D IRER &1 Q,
2 SRIER &, A 30°C A9HH IR

I X 8x B IRIEX BN |
10

R2 Ty -Ty
% - (%]
Q) =2
R1 =X
T, =0°C
R, =8
T, =%
10
8x\m, -0
Qy = (7)
10
-2
X
10
2 =@,
. 10
2 = (2

30

@' = mn
30
T,
T, =30°C

=1

100. TGN A9SH & Who F Dol Bl

PRUT &—
In prophase of meiosis chaismata are due
to:

(A) STRacH/Mutation

(B) IR 3i@%/Crossing over

(C) T=g@ae/ Translocation

(D) s=aei¥/Inversion

FeggAl faureH & qrow 4
PO BT PIROT HIRAT AR & |
IR SER—UAT gfcbar o
T TURE TR Rerd S &1
Tep e AT URLH TR Rerd
FHME SIHl & g §RI I
IR IR @ B, 9 fafEr
Tq PR AR Fed & |
Boel TS ORI ¥ HafeR
R b AL e o
RURCARERS

101.

101.

102.

102.

103.

o Uidl A, 98 UfhdT, TEl W@-IRET0 |
FoH & I WRITH0T THed AR afian
TSI B THI FHM T8 Bl 8, B Ba
S B

In certain plants, the mechanism where
timing of anther dehiscence and stigma

receptivity do not coincoide to avoid
self-pollination is called :

(A) ¥ wrergaadr/Dichogamy

(B) T vey S9aferfiar/Herkogamy

(C) S9IfCIISRIAT/Monoecy

(D) THFTISRIT/Dioecy

(A) © oo ddl ¥, 98 gl oel |-
TR & a9 & ol URFTH0T
Tped iR afder arerar @
I A T8 B B, B P
FreTgFadl FHaT I & |
BRI X R AGT Haee &
9 O TKEY B BH DI
o forg Swafert TR+ gt
RIS T =T ¥eeoh B |
SafermsRar da del § Uw
ST YU & Sfel U o iYW
SFAT-FAT R AR AT 2 AT
el HISE B ¢ |

AqUIRNE B B—

Halophytic fern is :

(A) tfevsen guxfeaed/Adiantum
emaarginatum

(B) TRYAI\ 1S9/ Aspilinium nidus
(C) TPREEH 3R3M/Acrostichum au-

reum

(D) ST § & $1g el /None of the

above
(C) © TIAUIGIIE Tl THREIDH I3
5l
THREPH SR, IWRA Y IS
qTel, TATBIS e TIRfeIre T
B G I TS ST HPIHISE B,
Siifep Iea TS dTel WX A
BATGTdhel W o TG ol & |
THREFH IR, MesT elax
B, B B TP I TSI & S
EESHCIE]
T MG A W qAGen W
SINEDICREIN IR
AR & forg g fara-fra dves dig o=
AR ®?
Lac insect feeds on which of the host plant ?
(A) gfecar AERTT/Butea monosperma
(B) TSTST¥ SIS[e1/Zizyphus jujuba

TR | 13



103.

104.

104.

105.

14

(C) &I Bl / Cajanus cajan
(D) Suda a9/ All of the above
(D) © SMBR o U ARG &1 DI gfedr
AR, Reied Joqar den
BT BTl o UISeh UTe 9=
R E
ARG PIc YA B DIl B Tb
HArpiaiforee wd A faRre w9 s
T Sl I AT Y R B —
(i) TRR AR TR TS T GRIE0]
# oAt B B
(i) g8 ¥ A |
(iii) ST wie A
(iv) &1 TgERDeT SR |
SiaRy vd TMfder @ SFTAR RSt
PR &—

According to Bower and Goebel Rhizo-
phore of selaginella is :

(A) TP TI/A stem

(B) U® STS/A root

(C) T® AN '\j—é-ﬁrﬁﬁﬂ/ An organ sui-
generis

(D) ST H ¥ PIs el /None of the

above
97X Td M & AR
RIS &1 ISSIBIR Th
I FERHRE T
ITEONHR TF fIaerds wareHd
YT BT TH FIT B |
9 T*7 R IR THRIAS w9
| Y-IUHAT 3T & et
I SR Bl B
I HIUT ARTCA 9 fIwfia B
Tl
M R daR 7 72 314 s
RmRE @, 7 T S 91 37aR)
@ w9 H AT

A DR H ATSPHIBIZARTT B JuRfY

Y PrgeiRAl et {51 S 8 | s9d
T < 1 T foram S

©

Filaria is diagnosed by the presence of
microfilariae in the human blood. For this,
the blood sample is taken :

(A) AT & e a1/ Just after sunrise

(B) T # {541 1 W97 /any time of the
day

(C) M 4:30 T 6:30 B 7 /between
4:30 and 6:30 in the evening

(D) I 10:00 p.m., T 4:00 a.m. & AT/
between 10:00 p.m. and 4:00 a.m. in
the night

| AGRAWAL =XAMCART

105.

106.

106.

107.

107.

AA SR F ATSHIHEIRAT B
SuRfd & wgelRar Fara
T ST & | @ forg et T
I 10.00 P.M. T2 4.00 A M. &
ey forT uTel B |
ISR Bl e Urd 1T 1 Fal
ST & |

Y W RYIRT HEBR Ble B
ToTE | BT & |

3 {BR @ PIe A GARAT T
B IR TR ¥ ST | F AT
AR

TP HTBR BIC-BIC AT B ST
1 8, T AT BIgeiival Bl

Sisik

RIS a9 USRI $RA arel Bol
PEAR] o—

Phages which show lysogenic cycle are
called :

(A) THRRET eI/ Temperate phage

(B) fafesw we1/Lytic phage

(C) arI%er Bu/ Virulent phage

(D) SW& # | Pis 776l/None of the

above

ARSI S A &R PR arer
TRRE Bl HEAIT & |
ARG a% ¥, Tof S A T
B BRE OIHME | el T
ST B

YRGHR T STedie] AT B HID
T M N FIfRT T9d B
HRUT WSl Bl IS PP AR
ATsfed % § Y99 BN Ahd & |

gl B TG W 13 ST drell [ b

Y@l B FEd o—

Line of growth found on the shell of Pila

is called :

(A) =R/Spere

(B) @IgAa/Columella

(C) @X/Sutures

(D) IR/ Varices

(D) © U & TG TR S O dren
I &6 NEmsil 1 IR Hadl
gl
T 1 g ) e e A
§, ST 9 BB THR B w9 A
H ST I B |
EIENIREICISICIRCIG RIS
1 e a9 % Prer 71 F ffea
B B

(D)

(A)

108.

108.

109.

109.

110.

110.

111.

YREEAE Y ¥ el iy & froiad |
SHTRATST 1 fobere11 A= fHiepret ot 3 qare
87?

Birds are capable of removing during

inspiration which of the following amount
of oxygen from the air ?

(A) 20% (B) 40%

(C) 90% (D) 100%

(C) © TRE|ETY ¥ Y&l g & ST
B 90% AT Hdrer o7 |
| B
el Tq9 RN & w9 H o,
BIFS, AP Jad IR
Suferd ¥l
gférdi # eIy SAED SR B B9
7 ke Sufkerd |

TR 0T BT RESTHT TR SRV, FHEAT 5—

Germination of pollen grain on the stigma
is called :

(A) 3meRF/Autogamy

(B) = ?ﬁ?:; 31‘6!3?'01 /In situ germination

(C) ¥ drdl 3[gRUT/In vivo germination

(D) =¥ fagr W /In vitro germination

(C) © I HUT BT Rew &R R0
S dra1 ST HEAT & |
3SR a1 F9-FvEs |1 gree
F e P GG Bl B
SR IR ®Y | F-IRIT0]
EAGEACIE AT G
|l SR B IRIBRT TR0
@ 91 St 0T <1 wfcha 1 1
fagr wror @R 29 faer s
& HIeTH 4 1 & [ & Wy
H wefiq 5 mr g

SIS el IR I &—

Epigynous flowers are found in :

(A) G@Rfder/Cucurbita

(B) TSI/ Argemone

(C) Hredr/Malva

(D) ¥R H/Solanum

(A) © SURISTH HE GRS H IR
S B
i, T e g |
SIS
BISUIIEE Rl el d § R
S B
BIZUNTSTH el Aleadl | Ur
ST |

=1 9 9 fopadt SuRerfa & afran e

ERICE AR ICERT IS -1




111.

112.

112.

113.

113.

How is it that, Taenia escapes digestion
by the enzymes of the host, it is due to the
presence of ?

(A) IR RIEMIRIGN S /acid muco-

polysaccharides

(B) &R =g@paifaiayed/alkaline

mucopolysaccharides

(C) i rguIaIfeRTa Ve /acid lipo-

polysaccharides

(D) &R ATSUTATTADBRSH /alkaline

lipopolysaccharides
R HIUfaased o
Su-Rafd & af @ 9ve &
I <4 | 99 ST B |
TUGH 3R T TRoId! B
ST qRSfAT H UIeH B &, S
TolTgH feuRem < Tiffafey ot e
Eokd
AT P HE @I
@ T E |
FfaRad # 3 H-a1 IR wmEr srarR
BT SEIT BT &2

Which of the following stimulates the
exocrine pancreas ?

(A) fepfed qon YfpaToTae/Secretin

and pancreozymin

(B) T/ Enterocrinin

(C) 3=gfei/Insulin

(D) 7@/ Glucagon

(A) © fepfe Tem Yfemartae e
FRAT T |
G TP BN & O TR |
I DT IR DI IAC &AM 8 |
T TS B & Sfl SAR e
TR WIR I R &3 7 7aa
PHRAT |

11 % | -1 U SeR-aTfed Sig fay

gl

Which one of the following is a food
borne toxin ?

(A) fee™ N9 a9/ Tetanus toxin

(B) Sigei 4 Silg fas/Botulinum toxin

(C) BT g fas/Cholera toxin

(D) f2ult S faw/Diphteria toxin

(B) © IgelH Silg Iy Ueh eR-ated
g faw B |
e M M FARCRISIH
e e Sfratu] & HOT B
5l

®)

114.

114.

115.

115.

116.

ST g T4 ABS HecRiRe Wie
Prcrad © ol faforar et
STaTY] EIRT ST e & |
fEwiifRar sia faw ve arer 9é=
& ST UIE HEeTSUT B AT &
IR STfrFaETeNe BIRIEHIST B
HRAT & |

PIgARTZON TR SR 8—

Chylorhizy is found in :

(A) FFTE #/Opuntia

(B) gWIfT #/Euphorbia

(C) TERFM #/Asparagus

(D) TR #/Aloe

(C) © BRFARTSS TRRFRT ¥ GRSl
gl
Chylocauly—Opuntia § 9T}
SR B
Chylophylly—Agave
Succulent Aerophyte Udh JbIX
S WY B B

-1 BT FA-11 A AT BT oI -l
& e &1 SN IR Fe SR G |
Match List-I with List-II and choose

the correct answer using the codes given
below :

A1/ (List-1) A1/ (List-11)
(a) SERIFRSN/ 1. YfoRE & Sdee/
Neutrophils Production of

antibodies
(b) 3TN/ 2. JFPPR oD/
Eosinophils Kidneyshaped
nucleus
(c) VFH=P]/ 3. PHHHERT]/
Monocytes Diapedesis
(d) eI/ 4. gqUTT A
Lymphocytes w9ty /
Number increases
in allergy
®c/codes :
a b c d
(A) 1 4 2 3
(B) 4 2 3 1
©) 3 2 1 4
(D) 3 4 1 2
(D) ¢ SINFARSI—BTHYIROT
SFERST —URgUTT H
TFHSTu]—YfoReE H1 e
TR —JFBIBR o |
gfeafaT & HF-AT el Janfeqds gRumst
TR IR I B?

Which stage of Puccinia is found on its
alternative host ?

116.

117.

117.

118.

118.

119.

(A) @W/Uredospore

(B) feegErHR/Teleutospore

(C) SRfEARHR/Basidiospore

(D) fafefEaRdR/Pycnidiospore

(D) « ufeafyar o AfFEfeaex
AT JPhfoqeds TRUTHI TR IR
SR B |
vty afife ve ol
v e Had & wu A fasfaa
ol |
AT Serary # gaina
IMAR T A EER arel |1
PRI a1t AT YaT Foxel
gl

0.61A

n sin©

0.611
n sin®

(A) faves wifea (Refffeaw 9maR) @1/
Resolving power

(B) IfersT w1t @1 /kinetic energy

(C) 9T SHufl BI/Light energy

(D) AT A& BT/ Thermodynamics

(A) © fa%eT wifed &1 gaI—

~ 0.61A

~ nsin®

TfIST ol BI—

= e 3 forsret &7

nA = is the formula for :

K.E.= 1Emv2
B Soli—
E=hv= he
A
TUIHII el IRl ST 5—
Apocarpous condition occurs in :
(A) fofeTosit 9/ Liliaceae
(B) IF=T #/Graminae
(C) TRl #/Ranuculaceae
(D) HHISIEr §/Compositae
(C) © TUIHIN 7= XT3 uriy
S B
RyeTard™ erawen ferfere= # wrh
IR
RaTrde srawen I5A1 H Url
SR B |
AT STaw TR IRy
SR B |

Heg-gIAC TP Pl I8 W Pad 5—

Krebs—Henseliet cycle is also called :
(A) sd TFH/Krebs cycle
(B) Isamaifafers aFet @/ Tricarbox-

ylic acid cycle
(C) Hifgw s T/ Citric acid cycle
(D) gRAT g%/ Urea cycle

TR | 15



119.

120.

120.

121.

121.

16 |

Peq-gRICIT 9% D IRAT TP
A Fadl

B TH B CIZBIEFATAD
TRRre g% N B T

e T D Gifed e ah N
B &
TOTTSTRTH ¥ URITPIY 1 by Bl §—

Development of Anther in angiosperms

is :

(A) ACRARTITE/ Leptosporangiate

(B) g®RfSITe/Eusporangiate

(C) I$$/Gradale

(D) H1gRUT/Simple

(B) © TNSITH H URTTHY BT faamRT
TEARFITE A Bl 5
WRIATHY & BN U6 i
g &, forees forg s |mfesd
TRETHY, PIRTHR TRl 3R
fapraeiel AT & 9/ qHY W
ST 3R HAR DI SFTTIDT BRIl
gl

frfafed diewegd 4 9 dH-1 g8l
TrglIbIgol gRT UG HIAIHROT gIRT
Hihd ToITeH H IRARIT 8l S &°

Which of the following proenzyme is first

converted to active enzyme by enteroki-
nase and then by autocatalysis ?

(A) AT/ Pepsinogen
(B) SISHITGOEAN/Chymotrypsinogen
(C) WHTEIRIICISS / Procarboxypeti-

dase
(D) fefea=ra/ Trypsinogen
(D) « feftamis= AM9® gIT=egH
TEA TRIbTgIol §RT Aeaean]
EIAIORUT §RT TroTisd H URafid
B I B
BHISHICRTATT — BISHICH
(Active)

D)

(Inactive)

T ATICSS —

AGRAWAL =XAMCART

122.

122.

123.

123.

FrETfeRTT- Tres

(Active)

—  Pepsin
(Active)

FrferRad g # & e w8 AR

e 87

Which of the following pair is not cor-

rectly matched ?

(A) TTIESRAT/Cnidaria — BT F9fa,
FAB-FIR [T/ Radially sym-
metrical, tissue level organization

(B) widrgfenefisi/Platyhelminthes —

TS, ITYfeB®H/Unsegmented,
acoelomate

(C) FereT/Nematoda — 3RES, FeTfead/
Unsegmetned pseudocoelomate

(D) anertarer/Arthropoda—Metameric,
coelomate

MATIS-HeMR®, Coelomate
< e 8 ¥
TgSRAT-oIT A, Seieh-
IR TS
e, o
frice-TRR wrsfidn, e
e

aeirer-faRavel w9 ¥ wfved,
aRaf Se |

FrfeRed # & DF-11 UIeUl B BhE
8?

Which one of the following is a fungal
disease of plant ?

(A) FHS BT AoTH/Cucumber mosaic
(B) TTATT T gveriivfdr/Fire blight of

pear

(C) o fafeat/Crown gall

(D) 39 @9/ Apple scab

(D) © 99 WY Ul B BhHET I B |
REINEIR IS ERCINGI R CR I IR R
AT T

(Inactive)
EESIEINE

(Inactive)

(D)

124.

124.

125.

125. (B)

TR BT TR D T

ATy AT

fpde fufewd M 9eg

ShaT] I
frfoRea § & feed g9 570 99 g™
yforenfad 8 oI 87

The teeth are replaced by a horny beak in
which of the following ?

(A) RepIRsferar #/Rhynchocephalia
(B) haNer #/Squamata

(C) fadeiterar #/Chelonia

(D) wrIfSferar #/Crocodilla

(C) «» frefyar & <7 0 99 gRT
gfereenid & o 1
RepriRrchferar @it Xiferr &1 vh
TR |

qui g H—

In complete dominance :
(A) BHETD SR SHIEYS U F,
SFREE ¥ G BT &/ The pheno-

typic and genotypic ratios are same
in F, generation

PHICTE R SIS U F,
SRYE § GE BT 8/ The pheno-

typic and genotypic ratios are same
in F, geneation

BEANE U 3R SAreis
U F| SR # 1 el 8/ The
phenotypic ratio and genotypic ratio
are different in the F, generation

PSR SIS U F,
SRe # T BT 8/ The Pheno-

typic and genotypic ratios are differ-
ent in F, generation

HRICS 3R SHHICad g
F, SR ¥ M 2l g | ol
gHfaaT A |

RSN SiFTerey # Ue Tellel
BT YA GAR P TG Bl IR X6
| gl <l 5

(B)

©

(D)



